Aerial Cam Unit

- UCIISG -

4 ‘ ) N
B - UCMSG50 (00" ~ 75 )

10+0.05 190+ 0.02 2-¢10H7
28 & +——Fto—0— ) &
S | R
~
63 | 80005 | 35 z *
(Tolerances are from key groove.) N 4-¢11-¢18
225| 165 —
™
210

6.3

4-411-418

) g
= _1225 100 2-410H7
=3 6.3
= q} = v
[— 8 8 ] i_@'g_' [T}

Aes s o2 S
=3 < : 7
=7 g 4 I}

N
62.5 ®@®
10+0.05 125+0.02

- _ AAT ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th



Aerial Cam Unit

- UCIVISG -

w 0 S A B C D E F
0 15.00 195.00 67.50 112.50 46.00 -80 115.00
(&) 15.60 198.04 68.29 111.71 52.40 -75 123.04
10 15.60 195.99 69.77 110.23 58.60 o5 130.99
15 17.00 198.77 71.95 108.05 64.50 133.77
20 18.40 196.34 74.79 105.21 70.10 -55 141.34
25 18.00 191.62 80.28 99.72 73.30 -41 150.62
30 17.40 190.58 85.39 94.61 77.00 -40 150.58
B-UCMSG50 35 18.90 187.15 90.10 89.90 81.30 -25 162.15
40 20.60 183.29 95.35 84.65 85.10 -22.5 160.79
45 22.50 179.94 98.13 81.87 91.40 -10 169.94
50 23.30 174.07 995317 80.63 99.20 -5 169.07
55 26.10 168.64 111.04 68.96 96.40 15 183.64
60 31.50 162.61 118.08 61.92 98.00 25 187.61
65 36.60 155.95 125.44 54.56 99.00 & 190.95
70 39.50 153.63 133.06 46.94 99.40 40 193.63
75 52.20 150.64 140.89 39.11 113.70 50 200.06
Bl Table of Components
No. Description Qty | Material and Remark
(1) | Cam Holder 1 | QT500
(2 |Cam Slider 1 | QT500
@ Wear Plate 1 | Bronze
@ Cam Dirver 1 | QT500
@ Guide Bar 1 | Bronze
@ Spring Block 1 | Q235
@ Positive Return Follower | 2 | 45
Cam Slide Guide 1 | Bronze
@ Coil Spring 1
Hexagon Socket Head Bolt | 2 | M8 x 15
@ Hexagon Socket Head Bolt | 2 | M 8 x 25
@ Hexagon Socket Head Bolt | 1 | M 10 x 30
@ Hexagon Socket Head Bolt | 2 | M 10 x 25
Hexagon Socket Head Bolt | 4 | M 8 x 20 g
=
Option Code Specification ‘.‘_“.,
K A metric key is attached. . ' E
(It is not assembled to the main unit.) ‘q—,
Metric dedicated key is attached for =
KA both cam holder and driver.
(It is not assembled to the main unit.)
N13 Dowel Pin holes of cam holder and
cam driver are changed to @13H7.
Order No :
Catalog No. | | (W) | - | (0) |
B - UCMSG 50 - 75

roroweozcowons AT I S
Email : mk@asianadvanced.co.th

AAAAAAAAAAAAAAAAAAAAAAAA




Aerial Cam Unit

- UCIVISG -

Working Force kN(tonf) Spring Force N (kgf)
Travel Standard Allowable Total Weight
CatalogNo. | (W) | (9) | g Working Working | i _ kg
nitial Load | Final Load
Force Force
(one million strokes) | (300,000 strokes)
184.2 1097.6
00 15.0 (18.8) (111.7) 10.6
05 | 156 (1178936) 10.3
10 15.6 9.9
269.4 1167.4
(O (27.4) (118.8) 9.7
20 18.4
9.4
25 | 180 ?356962)
30 17.4
9.2
35 18.9
29.4 58.8 263.0
B-UCMSG 50 (3.0) (6.0) (26.8)
40 20.6
9.1
45 225
1104.6
(112.6)
50 23.3 9.0
315.6
E (32.2)
3 55 | 26.1 9.5
(x)
=
= 60 31.5 9.7
=
=
65 36.6 10.0
263.0
(26.8)
70 39.5
999.4
(101.9) ek
75 52.2

'ASIAN ADVANGED TECHNICA GO, LTD.

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th



Hun wey jeLay

- UCIVISG -

|onel] ssal

ﬁ@.m_

o 8
@ e

‘=
—
=
o
S
'
"
@
=

ASIAN ADVANGED TEGHNICA GO, LTD.

10°
256°
40°
55°
70°

o0e ., -0z
= 3

|oARI] SSB1d
ﬁm.mr

o[ ©
A =

[oABI] SSBId

05°
20°

%

pd

35°

Email : mk@asianadvanced.co.th

ADDTTIONALE DIE COMPONENTS

|oABI] SS8.
8Ll

14

00°
15°
30°
45°
60°
75°

Cam Diagram




Aerial Cam Unit

Spring Diagram

00° 05° 10°
1097.6 | 1167.4 _1167.4
11.7) /\ (118.8) (118.8)
- - - 853.1 I PSS |_880.0 Jooooooo
791.8 - 992 L
(80.6) (86.8) (89.6)
184.2 _179.6 | 2694 | .
88 |, ] (18.3) y | (27.4) 4 |
Lengthléﬁma\ load 74 7.8(Punch return’ 5 mm) Length at final load 63 7.0 (Punch return: 5 mm) Length ét final load 63 6.4 (Punch return: 5 mm)
Length at initial load 97.3 Initial deflection 4.7 Length at initial load 85 Initial deflection 4 Length at initial load 83 Initial deflection 6
Free length 102 Free length 89 Free length 89
[ TUH20-102 ) [ TUH20-89 ] [ TJH20-89 ]
156° 20° 25°
—Hara _1167.4_ _1167.4
11188) /\ (11838) (118.8)
902.5 > 924.9 942.9
91.9) (94.1) (96.8)
2694 | _____ 269.4 3592 |
(27.4) / (27.4) M (36.6) /) 11
Ul — il | LN U I
Length at fina load 63| | _5.9(Punch return: 5 mm) Length at finalload 83 | 5.4(Punch return: 5 mm) Length 3t final load 63} LS‘O(Punch return: 5 mm)
— T I -
Length at initial load 83 Initial deflection 6 Length at initial load 83 nitial deflection 6 Length at initial load 81 Initial deflection8
Free length 89 Free length 89 Free length 89
[ TJH20-89 ) [ TUH20-89 ] [ TJH20-89 ]
30° BHa 40°
1104.6 04.6
(112.6) (112.6) \
8626 oo 8995
(87.9) 91.7)
2630 | . 2630 | .
(26.8) 4 | p [1 (26.8) p
Length étfma\ load 55| 4.6(Punch return: 5 mm) Length gi final load 55 LA,Z(Punch return: 5 mm) Length gtﬂna\ load 55/ 3.9(Punch return: 5 mm)
L LR 1]
Length at initial load 71 Initial deflection 5 Length at initial load 71 Initial deflectiond Length at initial load 71 Initial deflection 5
1
Free length 76 Free length 76 Free length 76
[ TUH20-76) [ TUH20-76) [ TUH20-76)
45° 50° bb°
1104.6 1104.6 1104.6
{112.6) T12.6 \/\ 1112.6)
920.5 936.3 [ - 952.1
(93.8) (95.4) (97.1)
263.0 3166 | | 3158
(26.8) y | (32.2) 1 (32.2) I L
Lenghatfna load 55| | 35 (Punch return; 5 mm) Lengm/étfma\ ad 55| | 3.2 (Punch return’ 5 mm) Lengm/gtﬁna\ oad55 | _ 2.9(Punch return; 5 mm)
L - ) " — T
Length at initial load 71 Initial deflection 5 Length at initial load 70 Initial deflection 6 Length at initial load 70 Initial deflection 6
Free length 76 Free length 76 Free length 76
[ TUH20-76] [ TUH20-76] [ TUH20-76]
60° 65° 70°
= _1104.6 11046 N 999.4
@ 1112.6) /\ {112.6) \ (101.9) /\
—
— D I
D 973.1 - 988.9 [ - 904.7 =
S— (99.2) (100.8) (92.3)
- 2630 | 2630 | .| I 2630 | _______. I
(26.8) v (26.8) v (26.8) v
E Length a final load 55 2.5(Punch return: 5 mm) Length éi final load 55 2.2 (Punch return: 5 mm) Length at final load 57) 1.8 (Punch return; 5 mm)
g Length at initial load 71_ Initial deflection 5 Length at initial load 71 Initial deflection 5 Length at initial load 71 Initial deflection 5
='_- Free length 76 Free length 76 Free length 76
[ TUH20-76) [ TUH20-76) [ TUH20-76)
75°
999.4
(101.9)
931.0 J - 777
(94.9)
ZCCHOR I I IO
(26.8) /7 ||
Length at final load 57| 1.3 (Punch return; 5 mm)
Length at initial load 71 Initial deflection 5
Free length 76
[ TUH20-76)

I AT oo
Email : mk@asianadvanced.co.th

'ASIAN ADVANGED TECHNICA GO, LTD.



